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(c) 1 and 3 only 
(d) 1, 2 and 3 

64. With reference to Semi-conductor policy 
of Government of India, consider the 
following statements: 
1. As per it government will provide up to 

50% of Project cost for two semiconductor 
and two display fabrication established 
in country.

2. Under it India Semi-Conductor mission 
will be set up. 

3. This new policy is in line with the earlier 
National Policy on Electronics 2019 
(NPE 2019).

Which of the statement/s given above is/are 
correct? 
(a) 1 and 2 only 
(b) 2 only 
(c) 2 and 3 only 
(d) 1, 2 and 3 

65. Consider the following systems: 
1. Emissions Trading System
2. Carbon Tax
3. An offset mechanism

 Which of the above is/are types of Carbon 
Pricing Mechanism?
(a) 1 and 2 only 
(b) 2 and 3 only 
(c) 1 and 3 only 
(d) 1, 2 and 3 

66. With reference to Wheat production in 
India, consider the following statements: 
1. Indian wheat is largely a soft/medium 

hard, medium protein, white bread 
wheat. 

2. Wheat grown in central and western 
India is typically hard, with high protein 
and high gluten content.

3. Wheat crop in India is grown under six 
diverse agro-climatic zones.

Which of the statements given above are 
correct? 

(a) 1 and 2 only 
(b) 2 and 3 only 
(c) 1 and 3 only 

(d) 1, 2 and 3 

67. The climatic factors most important for this 

plant’s growth are temperature and rainfall. 

No variety can withstand a temperature in 

the vicinity of 0 °C. Temperatures between 

23 and 28 °C are the most favourable. 

Rainfall of around 150 cm to 200 cm per 

year is required. They are traditionally been 

cultivated in the shade of other trees, which 

mimics the natural growing conditions of the 

plants in a forest understory. Conservation 

of soil and moisture is very crucial for its 

plantation.

 Which of the following crop is the above 

paragraph referring to?

(a) Coffee

(b) Jute  

(c) Rubber 

(d) Palm 

68. With reference to Solar Trees, consider the 

following statements:

1. They help in cooling heat islands.

2. The cost of one unit electricity produced 

by them is nearly half of produced by  

roof top solar panel.

3. The shadow area is minimum in solar 

trees.

 Which of the statements given above are 

correct ?

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

69. With reference to Edible Oils in India, 

consider the following statements: 

1. India is one of the major oilseeds grower 

and importer of edible oils.


